Correction calcul mental Lundi 30/03

a) 74 x 10 = 740                  		b) 100 x 92 = 9 200
c) 50 x 100 = 5 000                 	d) 10 x 86 = 860
e) 8 x 10 = 80                     		f) 810 x 10 = 8 100
g) 590 x 100 = 59 000              	h) 107 x 10 = 1 070
i) 100 x 500 = 50 000          	j) 183 x 100 = 18 300
k) 100 x 406 = 40 600               	l) 40 x 10 = 400
[bookmark: _GoBack]m) 75 x 100 = 7 500                	n) 80 x 10 = 800
o) 100 x 93 = 9 300           		p) 817 x 10 = 8 170
q) 140 x 10 = 1 400           		r) 10 x 90 = 900
s) 204 x 100 = 20 400         		t) 16 x 100 = 1 600

